(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81 0ok oL b (] 100 1000 L0000 S0-91
T T i T i L0000 T T L0000
.................................. 1000 o e LO0O
.................................. Lo o g Loo
........... 00 o 700
L » ‘ 20
20 - 20
S0 - SO
L - L
4 - 4
............................................... g Lo ¢
L - L
4 T r Z
=
““““““““““““““““““““““““ g o o S
...................................... ol El o oL
2
.................. 0z = o 0Z
]
........... or o L#
........... 09 o 09
08 o 08
s -1 08 - : ! 06
L gleo=4o0QUuipn - g6 L 8FF 0=400 Win 6
—&—— BE€1=400 IemoY 00 - 10ld 130 —©—— 112°1=400 [eEmaY €00 - joid 130
F ————— @0UBLLOMSd WOPUBY i - 86 - 8JUBLLIOLIad WOPUEY : 25
L P P P I P L L nn L P " [ P P P I L an
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
— — T T T — T — T . L0000 T T L0000
.................................. 1000 - 1000
““““““““““““““““““““““““ Lo - Lo
700 - ¥00
L0 - L0
€0 - c0
= - SO
b B 3
4 - 4
g - g
L - L
................................................ 4 ) - Z
=
G o - S
“““““““““““““““““““““““““““““““““ oL 5 = oL
2
0z = - 0z
® L ]
...... or - or
09 \ 09
08 - 08
| 06 - 06
L [ ] 662°0=400 W o L ) 9/2°0=400 W 6
—S— ¥$2€'1=400 [enj2y Z00 -10ld 130 —E— 0L171=400 ey LO0 -1oid 13d
- —————— 8JUeulOLIad Wopuey 86 - ——— @juewlopad wopuey 86
- PR I P AT PR I . oo - P I P A PR I PR I P

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

0oL 0L b 10

100

1000

10000

$B10=400 U
—&— 2580=400 [EMOY 8OO - 101d 130
- ———— sjuBLLIOLIaY WOpUEY

0oL 0L b L0

M I
(noH/sjusAg ) v4o
100

1000

10000

L ®  0050=4D0 U
—&— z6Z'1=400 [EMOY 900 - 101d 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

-

s wsg g 8 ¢ &

S0-8l

10000
1000

'g g 2w wrmang

88 8 8

(% u1) sSAd

(3 ur) ssiid

(anoH/sjueng
oL b Lo

un w4

100 1000 10000

S0-9L

b 0=400 U
——G— 292'1=490 IBMOY 200 - Joid 130
soUeULIoLISd WOopUEY

L L Ly L Ly

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

P8 28 8 8 % g

L Ly
(anoH/siueng
oL b L0

1
ul v
100

[ ]
—

9€€'0=400 W
1¥T'1=400 [enov 500 - 101d 13a
8oUBLLIOLIBd WOopUEY

L [ L

00

— L0 O
‘@9

S wn NTHeN

& €

8 @

88 8

(% u1) ssIAd

(% U1} ssIiNd



(unoH/sjusAg
00L oL b 10

un) v
100

1000

10000

9yZ0=400 N
& /98'0=400 [EMAY 210 - 10Id 130
- ———— sjuBLLIOLIaY WOpUEY

L 1
(anoH/suang
oL L L0

1.
[EZN]
100

1000

10000

L ®  6970=400 U
—5— 080°L=400 MOV 0L0 - 10Id 13a

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

-

s wg 8 8 2 %

S0-8l

10000
1000

-0
2

S W NTWN

-

®3

88 8 8 ¢

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

ol b L0

100

1000

10000

S0-9L

1602°0=400 UN

——&— 25810=400 IBMOV LLO - 10Id 130

soUeULIoLISd WOopUEY
L Ly

10000
1000

—Luw
=}

oW NTVeY

-

R R8 8 8 ¢ 8

L Ly
(anoH/siueng
oL b L0

1
ul v
100

®  5020=400 UIN
—&— ZSE0=400 [eNoY 600 -101d 13a

———— 8JuBWLIOlIad Wopuey
L [ L

(% u1) ssIAd

(% U1} ssIiNd



(unoH/sjusAg
oL b 10

un) v
100

1000

10000

B¥10=400 U
S 98p'L=4¥D0 [BMOY L0 - 10Id 130
soUBULIOLISd Wopuey

L 1
(anoH/suang
oL L L0

1.
[EZN]
100

1000

10000

® bz 0=400 U
—5— $180=400 EMOYHL0 - 101d 130
——— @oUeuLIOLIad WOPURY

L [ L

S0-8l

100000
1000

S0-8l

10000
1000

LoD’
00

—
o

RE 88 8 8 8 | 2w arwangy

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

ol b L0

100

1000

10000

S0-9L

ZrL0=400 UN

——&— g8Y'L=400 [BMOY §10 -101d 130

soUeULIoLISd WOopUEY
L Ly

10000
1000

L Ly
(anoH/siueng
oL b L0

1
ul v
100

®  5E20=4O0 UIN
—&— 788'0=400 [EMOV €10 -101d 130

———— 8JuBWLIOlIad Wopuey
L [ L

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

10

100

1000

10000

S0-8l

1S1°0=400 W
& £6v°L=400 MY 020 - 10Id 130
soUBULIOLISd Wopuey

100000
- 000

M
{4noH/

L0

[
SjuRAT ul) V4o

100

1000

10000

S0-8l

e

ZPL0=400 U
2651400 [ENPY 810 - 10id 130
SoUBULIOLISd Wopuey

L [ L

10000
1000

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y
100

L0

ZrL0=400 UN
—&— g8y'L=400 [BMOY 610 -101d 130

SOUBLLLOLIS WL
L 1y

opuey

1000 10000 S0-9L

L L Ly
(anoHy
L0

SjUaA]

| I
ul v
100

1000 L0000 G0-8l

e

®  6pL0=MDA UN

S8 1L=400 [endv 10 -101d 134

SoUeULIOLB Wopuey
L [ L

10000
1000

10000
1000

boo'
00

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81 0ok oL b (] 100 1000 L0000 S0-91
— : : — . L0000 T T T 10000
1000 . - LO0O
Lo . Loo
00 . - F00
L0 r s
20 - 20
S0 - SO
L - L
4 - 4
g - g
L - L
............ Z o o Z
=
“““““““““““““ g o o S
............ & El R e VR S
2
............ 0z = o 0Z
or R S R 4
09 s 09
08 - 08
: 06 o R S 06
L L210=400 un 6 L Y0L'0=420 WiN 6
—&—— ¥¥6°0=400 IBMIY ¥20 - 10ld 130 —&—— G18'0=400 [EMOY €20 - 10ld 13a
- ————— @8dUeulOLIad Wopuey 86 - aoueLLLoLlad wopuey 86
L M A A N nn L I M A M ne
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
T T T T L0000 T T L0000
........................ 1000 S 1000
“““““““““““““““““““ Lo Lo
“““““““““““““““““““ 700 ¥00
= 0 : L0
€0 c0
= SO
b 3
4 4
g g
L L
.................................... 4 ) Z
=
................................... G o S
“““““““““““““““““““ o 5 oL
= )
............ 0z = 0z
or or
“““““““ 09 09
08 08
; : 06 - : 06
L [ ] $0L°0=400 Wy o L ) 6FL0=H00 WIN 6
—S—— §18'0=Y0a [ern2y 20 -10ld 130 —E—— §8p'1=400 [emoY LZ0 -10ld 13a
- ————— @JUBLLOMSd WOPUBY -1 86 - ———— @Jueulollad wopuey 85
- L A A PR R . . . e - P A . Ll PR AR re

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81 0ok oL b (] 100 1000 L0000 S0-91
T T T T L0000 T L T L0000
1000 . - LO0O
Lo . Loo
00 . - F00
W | L0
20 - 20
S0 - SO
L - L
4 - 4
g - g
L - L
............ Z o o Z
=
“““““““““““““ g o o S
L El R e VR L
¢ 3 é
0z = e N 0Z
or R S R 4
09 s 09
08 - 08
: 06 o R S 06
L FEL0=420Q W 6 L ¥EL0=420 U 6
—&—— G¥8'0=400 IemdY 820 - 10ld 130 —&—— £58'0=400 [EMoY /20 - 1old 13a
- ————— @8dUeulOLIad Wopuey 86 - aoueLLLoLlad wopuey 86
L P P P I P nn L P " [ P P an
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
T T T T L0000 T T L0000
........................ 1000 S 1000
“““““““““““““““““““ Lo Lo
“““““““““““““““““““ 700 ¥00
= 0 : L0
€0 c0
= SO
b 3
4 4
g g
L L
.................................... 4 ) Z
=
................................... G o Y S
“““““““““““““““““““““““““ ol = ol
2
........................ 0z = 0z
or or
“““““““ 09 09
08 08
; : 06 - : 06
L [ ] ZLL'0=420a W o L ) Y0L'0=4D2Q WN 6
—S—— [£€8'0=Y00 [enj2y 920 -10ld 130 —E—— §18'0=4020 [em2¥ S0 -10ld 13a
- ————— @JUBLLOMSd WOPUBY -1 86 - ———— @Jueulollad wopuey 85
- PR I P AT PR I PR . . oo - P I P A PR I . P

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

0oL 0L b L0 100 1000 10000 S0-8l 0ol ol b L0 100 1000 L0000 S0-8l
o ! ! — ! L0000 o ! — — ! L0000
1000 r - 1000
100" r 100
00 r 1 700
o L L0
c0 r c0
S0 ~ S0
b r L
4 r <
g r g
b r L
............ z T o z
=
“““““““““““““ S 0 Qo S
................... ol El o oL
............ v & I o
]
e
ov e ov
09 o 09
08 r 08
; 06 Qo e Rt AR SRR SRR -1 06
L 5S¢ 0=400 Ul 6 L L] gyeo=4oaQuwnw - ¢
—&—— [20¢="00 Iemoay Zg0 - 10id 130 —©—— Jg0'g=+00 [emay L€ - joid 130
[~ ©9JUellolsd Wopuey 86 - SIUBLLIOMIB WOPUEY i - 88
L L A S A B M on L P W A Ll P B . . on
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
T L—— T T 10000 T T L0000
........................ 1000 R S e 1000
“““““““““““““““““““ 100 100
“““““““““““““““““““ 00 700
L0 : L
c0 c0
S0 S0
b 3
4 4
g S
b L
.................................... z T z
=
........................ g a S
““““““““““““““““““““““““““““ oL 5 oL
&
e S S id
oF o
1 09
08 08
i : 06 r ; 08
L [ ] 92 0=400 UIN 8 L ] 22 0=400a U 6
—&—— [20'2¢="0a [em2y 0g0 -310id 134 —&—— 026'1L="00 [enaV 620 - 10ld 13a
F ———— @dUBULOMAY WOpUBY - 88 F ———— @juewOLad WopuEY 6
A L N P I M . . . A L1 i S A I . an

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

0oL 0L b L0 100 1000 10000 S0-8l 0ol ol b L0 100 1000 L0000 S0-8l
— . . o : L0000 — : o o . L0000
1000 r - 1000
100" r 100
00 r 1 700
L0 r s
c0 r c0
S0 ~ S0
L r b
4 r <
g r g
b r L
............ z T o z
=
“““““““““““““ S 0 Qo S
............ ol El o oL
32
&~ = o 0z
L]
ov e ov
09 o 09
08 r 08
; 06 Qo e Rt AR SRR SRR -1 06
L 92 0=400 U 6 L . g¢eo=4oaQumnw - ¢
—&—— §86°0=400 IEM2Y 90 - 10ld 130 —©—— Jg0'g=+00 [emay Se0 - joid 130
[~ ©9JUellolsd Wopuey 86 P ————— ®oUBLLIOMISd WOPUEY e - 88
L L A S A B M on L P W A Ll P B . . on
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
T L—— T T 10000 T T L0000
........................ 1000 R S e 1000
“““““““““““““““““““ 100 100
“““““““““““““““““““ 00 700
L0 : L
c0 c0
S0 S0
b 3
4 4
g S
b L
.................................... z T z
=
.................................. g a R e S S
“““““““ oL 5 oL
°
0z I o 0z
L
% o
“““““““ 09 09
08 08
i : 06 - ; 08
L [ ] 99€'0=400 UIN 8 L ] 662'0=420 Ul 6
—&—— [20'g="0a [enavy €0 - 10id 134 —&—— [20'2=40a [emav €0 - joid 13a
F ———— @dUBULOMAY WOpUBY - 88 F ———— @juewOLad WopuEY 6
A L N P I M . . . A L1 i S A I . an

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

'80€0=4D0 WN
—S— §80°'L=4D0 [BMOY 070 - 10Id 130
- ———— sjuBLLIOLIaY WOpUEY

L0

M I
(noH/sjusAg ) v4o
100

1000

10000

L ®  gLe0=y00 umw
—5— $00°L=400 MY 8E0 - 101d 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(anoH/sjueng
Lo

un w4

100 1000

1420=400 UN

—G— 986'0=4D0 IBMOY 650 - J0id 130
soUeULIoLISd WOopUEY

L L Ly L Ly

10000

L Ly
(anoH/siueng
L0

1
ul v
100

[ ]
—

112 0=40a N
686°0=400 [BM2Y /€0 - 101d 13a
8oUBLLIOLIBd WOopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuang ul) v (1noH/sjuang ul) v
10 100 1000 10000 S0-8l 00L ol b L0 100 1000 10000 S0-9L

T i T i L0000 T L0000
...................... 1000 o : LO0O
...................... Lo o Loo
........... 00 o i 700
L0 r | T L0
20 - 20
S0 - SO
L - L
4 - 4
................................... g Lo B ——
L - L
4 T r Z
=
““““““““““““““““ g o o S
ol El I oL
2
e e 14
or o 4
09 o 09
08 o 08
s -1 08 - : ! 06
L veeo=yoquwyw - g6 L 91¢'0=420 U 6
—&—— 6¥2'1=400 IemoY LSO - 10id 130 —©—— 6¥Z'1=400 [emav 0S0 - 1oid 130
F ————— @0UBLLOMSd WOPUBY i - 86 - ———— @ejueuulollad wopuey 25
L P P P I P L L nn L P " [ P P an
(InoH/sjueaAg ul) v4y (4noH/sjusAg ul) vy
0oL oL b L0 100 1000 L0000 S0-8L ool oL L L0 100 1000 L0000 GS0-8L
— — —T —T — T — — . L0000 T T L0000
.................................. 1000 - 1000
““““““““““““““““““““““““ Lo - Lo
700 - ¥00
L0 - L0
€0 - c0
= - SO
b B 3
4 - 4
g - g
L - L
................................................ 4 ) - Z
=
G o - S
““““““““““““““““““““““ oL 5 = oL
2
0z = - 0z
...... or - or
09 - 09
08 - 08
| 06 - 06
L [ ] €2£°0=400 U o L ) 9b€0=400 U 6
—S—— GB0'L=Y00 [en2Y Z#0 - 10ld 130 —E— §60'L=42d [en2Y L¥0 -1oid 130
- —————— 8JUeulOLIad Wopuey 86 - ——— @juewlopad wopuey 86
- PR I P AT PR I . oo - P I P A PR I . P

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y
L0

100

1000

10000

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

-

9yZ0=400 N
—&— $821=400 [EMOY 550 - 101d 130
- ———— sjuBLLIOLIaY WOpUEY

s wg 8 8 2 %

L0

M I
(noH/sjusAg ) v4o
100

1000

10000

S0-8l

10000

1000

LoD’
00

—
o

L ®  gLZ0=¥00 U
—5— 6pZ’L=400 [EMIY €50 - 101d 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

P 88 8 8 ¢ B 2w arwargy

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0

100

1000

10000

BEZ0=400 UN

—G— $EZ1=MD0 BMOYHS0 - Joid 130

soUeULIoLISd WOopUEY
L Ly

L Ly
(anoH/siueng
L0

1
ul v
100

®  obZ0=4Oqa UIN
—&— 6YZ L=40a [BMoY 250 - 101d 13a

———— 8JuBWLIOlIad Wopuey
L [ L

S0-9L

10000
1000

—Luw
=}

oW NTVeY

-

e w8 8 8 ¢ %

(% u1) ssIAd

(% U1} ssIiNd



(unoH/sjusAg
00L oL b 10

un) v
100

1000

10000

G9F'0=40Q U
—&— /g6 0=400 [EMOY 980 - 101d 130
- ———— sjuBLLIOLIaY WOpUEY

L [
{anop/siueng
004 oL L 1o

1.
[EZN]
100

1000

10000

L@ cLp0=¥00 uW
—5— Z1L80=400 EMPYH90 - 10id 130

- ———— 8ouBLLIOLIad WopuURY
L [ L

S0-8l

100000
1000

10O
00

LD O
‘250

o wmw oNTnN

88 & 8 8 K *F

[+2]
[=2]

n
n

S0-8l

10000
1000

-0
2

S W NTWN

-

88 8 8 g R

(% u1) sSAd

(3 ur) ssiid

(anoH/sjueng
0oL oL b Lo

un) w4
100

1000

ELP0=400 UN
——G— 1B,°0=4D0 IBMOY 590 - Joid 130

F ——— eajueuwuoliad wopuey

L L Ly L Ly

10000

L Ly
(anoH/siueng
0oL oL b L0

1
ul v
100

L L 69¢°0=400 UIN
—S—— 0§1°1=40d [erdy 950 -10d L34

- ———— @duewloled Wopuey
L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

N
8 @ R 8w ared

& 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y (unoH/sjusAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81 0ok oL b (] 100 1000 L0000 S0-91
— . . o : L0000 . o . L0000
= L00O . - LO0O
- oo . Loo
- F00° . - F00
-1 L0 . 1 L0
— €0 - 20
-1 50 - SO
sl - L
a4 - 4
19 - g
sl - L
......................... e o - Z
=
“““““““““““““ 18 o - S
......................... - o El - oL
2
................................... - 02 = - 0Z
....................... - OF o 4
....................... = 09 o 09
- 08 - 08
: : e -1 08 o R S 06
L elyo=d0Quin - g6 L ¢LP0=420 U 6
—&—— Z¥80=400 IemdY 0.0 - 10ld 130 —&—— Ge8'0=400 [emav 890 - 1old 134
F ————— @0UBLLOMSd WOPUBY i - 86 - 8JUBLLIOLIad WOPUEY 25
L P P P I P L L nn L P " [ P P an
(4noH/sjuaAg ul) Y4y (InoH/suaAg ul) vay
0oL oL I L0 100 L0070 L0000 G0-81 00k 0L L L0 100 L1000 L0000 G0-91
— — T . L0000 T T L0000
........................ 1000 S 1000
“““““““““““““““““““ Lo Lo
“““““““““““““““““““ 700 ¥00
= 0 : L0
€0 c0
= SO
b 3
4 4
g g
L L
.................................... 4 ) Z
=
................................... G o B S
““““““““““““““““““““““““ oL 5 oL
2
............................. 0z = 0z
or or
09 09
08 08
; : 06 - : 06
L [ ] £PP 0=400 U o L ) GEF'0=H420 W 6
—E— §S1'L=400 [erov 890 -Joid 130 —E—— 028'0=400 [em2Y 290 -1old 13a
- —————— 8JUeulOLIad Wopuey 86 - ——— @juewlopad wopuey 86
- PR I P AT PR I PR oo - P I P A PR I PR I P

(% u1) ssIAd

(% U1} ssIiNd



